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Summer Vacation Assignment (2025-26)
Class: - 111

§4

SUBJECT: ENGLISH

1. Rearrange the jumbled letters in the following words:
a) LICEDOROC-
b) YOKMNSE-
c) WKQUSA-
d) LQESUA -
e) HEELPANT.

2. Some children had gone for a picnic on a beach. After eating their food, threw the
wrappers on the beach and in the sea. Were they right in doing so ? Why? What would
you do to restore the natural beauty and cleanliness of the beach?

3. What is a mammal? Give some examples.
4. What precautions should the visitors take while moving around the zoo?

5.Why do you think Somu started ignoring Molly ? Was he right in behaving so? Explain
with reasons?

6.you are going on a holiday.You decide to leave your pet dog with your friend.Tell your
friend five things that he needs to do to take care of your dog.

7. PROJECT - Write definition of Naming words and draw or paste a picture of it on a
chart paper.
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SUBJECT: MATHEMATICS

1. ADDITION (5 Questions)
Add the numbers and choose the correct answer.

1. 1234 + 2345 =

a) 3579 b) 3479 c) 3580 d) 3570
2. 4021 + 567 =

a) 4588 b) 4568 c) 4589 d) 4598
3. 2050 + 3002 =

a) 5052 b) 4052 c) 5012 d) 5032
4, 789 + 432 =

a) 1221 b) 1222 c) 1231 d) 1211
5. 9000 + 1000 =

a) 10000 b) 9500 c) 9999 d) 11000

2. ABACUS (5 Questions)
Look at the given number and answer the question.
1. In 4321, what is the digit at the Hundreds place?
a)2 b)3 c)4 d)I
2. In 5079, how many thousands?
a)0 b) 5 c)7 d) 9
3. In 6892, which digit is at the Tens place?
a)9 b) 2 c)8 d)3
4. Which number has 6 in the hundreds place?
a) 2693 b) 8623 c) 9632 d) 1364
5. Whatis the place value of 7 in 57242
a)7 b) 70 c) 700 d) 7000
3. SMALL/BIG & PLACE VALUE (5 Questions)
1. Which is the greateste
a) 2389 b) 8923 c) 7291 d) 4821
2. Which is the smalleste
a) 1000 b) 999 c) 1999 d) 1100
3. Whatis the place value of 5in 45232
a) 500 b) 50 c)5 d) 5000
4. Which number has 3 in the thousands place?
a) 9345 b) 3456 C) 2345 d) 1345
5. In 7812, what is the digit at hundreds place?
a) 8 b) 1 c)7 d) 2




4. WORD PROBLEMS (5 Questions)

1. Rahul has 1345 pencils and he buys 456 more. How many pencils does he have
NOW?¢
a) 1800 b) 1791 c) 1801 d) 1810

2. A factory made 2000 toys in January and 1750 in February. How many toys in
total?
a) 3750 b) 3700 c) 3760 d) 3780

3. Sara had 3200 rupees. She gave 1450 to her friend. How much is lefte
a) 1650 b) 1750 c) 1850 d) 1950

4. Atfruck carried 2450 bricks in the morning and 2780 in the afternoon. How many
bricks in totale
a) 5220 b) 5230 c) 5235 d) 5240

5. Ashopkeeper sold 1234 pens on Monday and 1432 pens on Tuesday. How many
pensin allg
Q) 2666 b) 2566 C) 2656 d) 2646

5. SUBTRACTION
Subtract the numbers and choose the correct answer.

. 4532 — 1234 =
Q) 3298 b)3308 c)3310 d) 3288
. 6000 — 2890 =
a)3110  b)3111  ¢)3090  d) 2990
. 8000 — 4321 =
Q) 3689 b)) 3679 ) 3690  d) 3680
. 9999 — 1000 =
Q) 8999  b)8998 ) 8997  d) 8996
. 5000 — 2450 =
Q) 2550  b) 2500  c) 2555  d) 2560

6. SUBTRACTION WORD PROBLEMS (10 Questions)
Read the word problem and choose the correct answer.

1. Riya had 3456 candies. She gave away 1234. How many are lefte
Q) 2222 b) 2232 c) 2212 d) 2242

2. Ashop had 800 pens. 276 pens were sold. How many are lefte
a) 524 b) 544 c) 534 d) 514

3. A farmer had 5000 apples. He sold 2890 apples. How many apples are

still with him?2
a) 2110 ) 2100 c) 2120 d) 2130

4. There were 999 chairs in a hall. 123 chairs were broken. How many
good chairs are left?
a) 876 b) 877 c) 879 d) 878

5. A factory produced 10000 toys. 6789 were sent to shops. How many
toys remain?
a) 3211 b) 3210 c) 3221 d) 3220




7. MISSING NUMBER SUBTRACTION PATTERNS (5 Questions)
Find the missing number.

1.

1667 — 305 = 2 — 300
a) 1367 b) 1372 ¢) 1370 d) 1375

2. 2450 - 225 =72 - 220

Q) 2225 ) 2250 c) 2230 d) 2235
3. 1800-150=2 - 145

a) 1650 ) 1700 c) 1705 d) 1695
4, 999 — 444 = 2 — 440

a) 555 b) 559 c) 560 d) 565
5. 4321 -321 =2 -320

a) 4000 ) 4001 c) 4002 d) 3999

8. MULTIPLICATION (Direct Computation — 10 Questions)
1. 123 x4 =

Q) 492  b)512  c)478  d) 492
2. 2834 x 5=

a) 1170 b) 1180 c) 1150 d) 1190
3. 321 x3 =

Q) 963  b)973 ) 969  d) 953
4, 412 x2 =

a)824 b)828 ¢)834  d)816
5. 101 x9 =

a)909  b)911  ¢)919  d)900

9. MULTIPLICATION - 4-digit x 2-digit (5 Questions)

1. 1234 x 12 =

Q) 14,008  b) 14,404 c) 14204  d) 13,804
2. 2456 x 21 =

a) 51,576  b) 51,876  ¢) 51,966  d) 51,546
3. 3001 x 14 =

Q) 42,014 b)) 42,020 c) 42,114  d) 42,140
4, 4123 x 25 =

a) 103,075 b) 102,875 c) 103,125 d) 102,675
5. 5678 x32 =

a) 181,696 b) 182,496 c) 180,896 d) 179.896

10. CRITICAL THINKING / LOGIC (10 Questions)

1.

2.

3.

A box has 125 pencils. How many pencils are there in 6 such boxes?

a)750 b)725 c¢)765 d)745

One car has 4 wheels. How many wheels are there in 125 cars?

a) 500 b) 525 c) 510 d) 495

A packet contains 36 candies. How many candies are there in 12 such packets?
a) 432 b) 444 C) 446 d) 426

A book costs 345. What is the cost of 3 such books?2

a) %1035 b) *1045 c) %1025 d) 1050

There are 24 students in a class. If each student reads 3 books, how many books
are reade

a)72 b) 74 c)76 d) 70




11. Critical Thinking Math (Addition, Subtraction, Multiplication — 20
Questions)

1. Ria had %2350. She gave %750 to her brother and %600 to her friend.
How much money is left with her?
a) %1000 b) 21050 c) %990 d) %1010

2. A fruit vendor sold 145 apples on Monday, 186 on Tuesday, and 129
on Wednesday. How many apples did he sell in total?
a) 460 b) 470 c) 450 d) 480

3. Aschool had 1235 students last year. This year 245 more students
joined. How many students are there now?
a) 1480 b) 1470 C) 1485 d) 1490

4. A toy costs ¥325. What is the cost of 8 such toys?
a) 32600 b) %2520 c) %2650 d) %2500

5. A factory made 1050 pens in the first week and 980 pens in the
second week. How many pens in totale
a) 2030 ) 2035 c) 2020 d) 2025

SUBJECT: SCIENCE

Q1) Answer the following questions:

(i) Which is the largest organ of our body?

(ii) How many taste buds are present in our tongue?

(iii) A new born baby can see different colours or only black and white?
(iv) Draw and label all the parts of the plant in your copy.

(v)  Draw and label all the taste buds present in your Tongue.

(vi)  What is the Functions of the following parts of our body given below?

(a) Ears (b) skin (c) Eyes (d) Tongue
(vii)  What is the Functions of the following parts of the plant?
(a) Roots (b) leaf (c) fruits (d) Stem

(viii) What is the use of chlorophyll in leaves?
(ix) Draw a diagram showing the process of preparing food by plants.
(x)  Differentiate between:-

(a) Shrubs and Herbs

(b) Climbers and Creepers

Project Work : Paste the leaves of 2-2 Trees, Shrubs, Herbs, Climbers and Creepers on
a chart paper and write their names..




SST

1. Write all difficult words and write their meaning in copy. (Chapter 01,02 and 03)

2. Write all questions and answers of chapter 01 and 02

3. Write and learn Do You Know ( chapter 01 and 02)

4. Project Work

On the political map of India show all states

OR

Draw a family tree and write names and paste photos of family members.
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